
High Pressure Adapter for PICO
®

 Pµlse™

 Valves

Instructions

Introduction
The high pressure adapter kit can be installed on a PICO Pµlse valve for applications that require a material supply 
pressure greater than 7.0 bar (100 psi).

High pressure adapter kit, straight fitting 
P/N 7362459

High pressure adapter kit, 90° fitting 
P/N 7362543

WARNING
Do not exceed a fluid pressure of 48 bar (700 psi).

Illustrations of Assembled Kits
The following images show the high pressure adapter kit options installed on a Pµlse valve. Continue to the next page for assembly 
instructions.



High Pressure Adapter for PICO Pµlse Valves

2 www.nordsonefd.com   info@nordsonefd.com   800-556-3484    Sales and service of Nordson EFD dispensing systems are available worldwide.

1.	 Loosely install the M2 x 8 screws 7  into the 
base bracket 2  on the valve. 
Tighten to 0.37 N•m (3.3 in.-lb).

2.	 Use the M2 x 6 screws 6  to install the slider 
bracket 5 . Do not tighten the screws at this 
time.

3.	 Install the O-ring 8  in the receiving groove of 
the M5 adapter fitting 1 .

4.	 Install the M5 adapter fitting 1  and O-ring 8  
in the M5 inlet port of the fluid body 10 . 
Tighten to 1.5 N•m (1.1 ft-lb).

5.	 Assemble the hose 9  and then loosely 
assemble its compression nut on the M8 
thread of the M5 adapter fitting 1 .

6.	 Loosely install the M2 x 10 screws 4  into 
the cap bracket 3  and slider bracket 5 , 
capturing the hose assembly. Do not tighten 
the screws at this time.

7.	 While holding the M5 adapter fitting 1  to 
keep it from turning (and thus over-tightening 
the M5 thread for the valve inlet), tighten the 
compression nut on the hose assembly 9  
(two 10-mm wrenches).

8.	 Tighten the M2 x 10 screws 4  to 0.37 N•m 
(3.3 in.-lb).

9.	 Being sure not to twist or move the fluid body 
assembly, tighten the M2 x 6 screws 6  to 
0.37 N•m (3.3 in.-lb).

Assembly — Straight High Pressure Adapter

Item # Component Torque Specification

1 M5 adapter fitting 1.5 N•m (1.1 ft-lb)

4 M2 x 10 screws 0.37 N•m (3.3 in.-lb)

6 M2 x 6 screw 0.37 N•m (3.3 in.-lb)

7 M2 x 8 screws 0.37 N•m (3.3 in.-lb)

NOTE: Items 4 and 6 are tightened to these specifications 
at the end of assembly.

3
4

M2 x 10

2

6

M2 x 6

7

9

1

8

M2 x 8

5

10



3

High Pressure Adapter for PICO Pµlse Valves

www.nordsonefd.com   info@nordsonefd.com   800-556-3484    Sales and service of Nordson EFD dispensing systems are available worldwide.

1.	 Use the M2 x 8 screws 7  to install the base 
bracket 2  on the valve. 
Tighten to 0.37 N•m (3.3 in.-lb).

2.	 Loosely install the M2 x 6 screws 6  into the 
slider bracket 5 . Do not tighten the screws at 
this time.

3.	 Install the O-ring 8  in the receiving groove of 
the M5 adapter fitting 1 .

4.	 Install the M5 adapter fitting 1  and O-ring 8  
in the M5 inlet port of the fluid body 10 . 
Tighten to 1.5 N•m (1.1 ft-lb)

5.	 Thread the straight tube fitting 11  into the 
90° adapter fitting 9  (11-mm and 12-mm 
wrenches). 
Tighten to 4 N•m (3 ft-lb).

6.	 Loosely install the compression nut 13  onto 
the M5 adapter fitting 1 .

7.	 Insert the 4-mm OD tube 12  into the 
compression nut 13  until the tube bottoms out 
inside the nut.

8.	 Install the straight tube fitting 11  and 
90° adapter fitting 9  assembly onto the top 
of the 4-mm OD tube 12 .

9.	 Loosely install the M2 x 10 screws 4  into 
the cap bracket 3  and slider bracket 5 , 
capturing the 90° adapter fitting assembly. Do 
not tighten the screws at this time.

10.	While holding the M5 adapter fitting 1  to 
keep it from turning (and thus over-tightening 
the M5 thread for the valve inlet), tighten the 
compression nut 13  (two 10-mm wrenches).

11.	Align the 90° adapter fitting 9  to the desired 
orientation while simultaneously tightening 
the compression nut on the straight tube 
fitting 11  (12-mm and 10-mm wrenches).

12.	Tighten the M2 x 10 screws 4  to 0.37 N•m 
(3.3 in.-lb).

13.	Being sure not to twist or move the fluid body 
assembly, tighten the M2 x 6 screws 6  to 
0.37 N•m (3.3 in.-lb).

Assembly — 90° High Pressure Adapter

Item # Component Torque Specification

1 M5 adapter fitting 1.5 N•m (1.1 ft-lb)

4 M2 x 10 screws 0.37 N•m (3.3 in.-lb)

6 M2 x 6 screw 0.37 N•m (3.3 in.-lb)

7 M2 x 8 screws 0.37 N•m (3.3 in.-lb)

11 Straight tube fitting 4 N•m (3 ft-lb)

NOTE: Items 4 and 6 are tightened to these 
specifications at the end of assembly.

2

6

M2 x 6

3 4

M2 x 10

11

12

13

1

9

M2 x 8

7

5

10

8



High Pressure Adapter for PICO Pµlse Valves

For Nordson EFD sales and service in over  
40 countries, contact Nordson EFD or go to  
www.nordsonefd.com.

Global 
East Providence, RI USA 
800-556-3484; +1-401-431-7000 
info@nordsonefd.com

Europe 
Dunstable, Bedfordshire, UK 
0800 585733; +44 (0) 1582 666334 
europe@nordsonefd.com

Asia 
China: +86 (21) 3866 9006; china@nordsonefd.com 
India: +91 80 4021 3600; india@nordsonefd.com 
Japan: +81 03 5762 2760; japan@nordsonefd.com 
Korea: +82-31-736-8321; korea@nordsonefd.com 
SEAsia: +65 6796 9522; sin-mal@nordsonefd.com

©2017 Nordson Corporation    7362568    v012417

Replacement Parts
Item Part # Description

7362459 High pressure adapter kit, straight fitting

7362543 High pressure adapter kit, 90° elbow


	High Pressure Adapter for PICO® Pμlse™ Valves Instructions
	Introduction
	Illustrations of Assembled Kits
	Assembly — Straight High Pressure Adapter
	Assembly — 90° High Pressure Adapter
	Replacement Parts


